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3 Hannah is planning a day trip for 195 students.

She asks  sample of 30 sudrts where they want 10 go.
Each student chaoses one place.

“The tsble shows information shout ber esuls.

e | Namberatsudens
heme Pk 0
heare s
Sponscanne | s
saite | 7

() Work out how many of the 195 stadentsyou think will want o g0 o the Theme Park.

(i) State any sssumption you made and cxplain hov this may affct your nswer.

(Total for Question 3 s 3 marks)
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1 Here are two sets of numbers, A and B.

SotA SotB

200 160 270 400 483
104 100 00 x

mean of Set A: mean of SetB=3:8

‘Work out the value of .
[4 marks]
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For Class X,
For Class Y,

number of boys : number of girls =7 : 8
number of boys : number of gils = 3: 4

Which statement must be true?

Tick one box.

Class X has more boys than class Y

Class X has twice as many girls as class Y

Class X has a greater proportion of boys than class Y

Class X has the same proportion of boys s class Y

11 mark]
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20 dis directly proportional to the square of v.
d=6 when v=20

20 ()  Work out an equation connecting d and v.
[3 marks]

Answer

20 (b) ‘Work out the value of d when v = 30
[2marks]

Answer
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13 e:f=2:3 and fig=5:4

Workout e g

Give your answer in its simplest form.
[3 marks]
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Prisms A and B are similar.

The cross sections are shaded.
PrismA PrismB
volume = 480 cm® length = 30 cm
30em

area of the cross section of A area of the cross section of B = 4:9

Work out the area of the cross section of B.
[5 marks]

Answer cm?




image101.png
The volume of a medal is 45 cm®
‘The medal is made from copper and tin.

volume of copper : volume of tin = 22: 3

The density of copper is 8.96 g/cm®
The density of tin is 7.31 glem®

Work out the mass of the medal.

[4 marks]

grams
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21 @

21 ()

s inversely proportional to +x

=4 when x=9
Work out an equation connecting y and x.
[3 marks]
Answer
Work out the value of y when x =25
[2 marks]
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15 A company makes two types of lampshade using fabric on wire frames.

Lampshado A
Fabric s used to make the curved surface of a cyinder.
“The cylinder has racius 8 cm and height 22 cm

Lampshado 8
Fabric s used to make the four triangular faces of a pyramid.

Each tianguiar face has base 15 cm and perpendicular height 24 cm

Not drawn
accurately
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Costoffatric | £400 per square metre
Other costs for A | £3.50 per lampshade.

Other costs for B | £7.50 per lampshade.

Work outthe atio  cost of one lampshade A cost of one lampshade B.
Give your answer ntheform 1

15 marks)
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10

yis inversely proportional to x.

Complete the table.

12

[2 marks]
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7 £360 s shared between Abby, Ben, Chioc and Denesh.
“The rtio ofth amount Abby gets o the smount Ben gets is2:7
Chioe and Denesh cach gt 1.5 times the rmount Abby get.
Wk ut the amont of moncy that Ben gets.

P
(Total for Question 7 is 4 marks)
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14 Patterns are made using straight lines and arcs.

14 (a) Pattern A (one row) Pattern B (two rows)

More rows are added to Pattern B so that

number of straight lines : number of arcs = 10: 9

How many rows are added?
[2 marks]
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14 (b)  Adifferent pattern is made using 20 straight ines and 16 arcs.
‘The straight ines and arcs are made from metal.
20 straight lines cost £12
cost of one straight line : cost of one arc = 2:3

Work out the total cost of the metal in the pattern.

[3 marks]

Answer £
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16 ‘The value of y is 20% more than the value of x.

Circle the ratio  x:y
[1 mark]
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Workouttheratio  a:b:c

Give your answer in ts simplest form where a, b and  are integers.
[3 marks]

Answer
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a1

is 1 times x.

yisiy x.

Circle the ratio that is equivalentto  y:x

[1 mark]
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‘Theo starts with savings of £18
James starts with no savings.

Each week from now,
Theo will save £4.50 and James will save £4

In how many weeks will Theo and James have savings in the ratio 1582
13 marks]
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=10
x

v

If the value of x doubles, what happens to the value of 2

Circle your answer.
[1 mark]

<2 x2 +5 x5
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13

xiy=7:4
x4y =88

Work out the value of x—y

13 marks]
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A stone is thrown upwards with a speed of v metres per second.
‘The stone reaches a maximum height of / metres.

his directly proportional to +*
When v=10,=5

Work out the maximum height reached when v = 24

[4 marks]
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is 100% more than x.

Circle the ratio  x © y
[1 mark]
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9 The circumference of crcle B is 90% of the circumerence of circle A

(&) Find the ratio o the area ofcircle A 10 the area of circle B

Square E has sides of length ecm.
Square F has sides of length fem.

The area of square E is 44% greater than the area of square F.
(b) Work out the ratio 3/

(Total for Question 9 is 4 marks)
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17 At a football game
number of men : number of women : number of children = 13:5: 7

‘There are 4152 more men than women.

‘Work out the number of children at the game.
13 marks]

Answer
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azb=

14 and  10b=Tc

Workout a:c inits simplest form.
13 marks]
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ab=4:3
Circle the correct statement.
[1 mark]

4 3 4 3
bis 3 ofa bis 3 ofa bis5ofa bis 5 ofa
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17 P s a rectangle with length 50 cm and width x cm
Qisa rectangle with width y cm

Not drawn
accurately

xem

50cm

‘The length of Q is 20% more than the length of P.
The area of Qis 10% less than the area of P.

Work out the ratio x )
Give your answer in its simplest form.

[4 marks]
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2

Aball, dropped vertically, falls d metres in ¢ seconds.
dis directly proportional to the square of 1.
‘The ball drops 45 metres i the first 3 seconds.

How far does the ball drop in the next 7 seconds?

[4 marks]

Answer

metres
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1 Purple paint is made by mixing red paint and blue paint in the ratio 5 : 2

Yan has 30 ltres of red paint and 9 ltres of blue paint.

What is the maximum amount of purple paint he can make?

13 marks]

Answer
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14

xy=c where cisa constant.
Circle the correct statement.

is directly proportional to x

yis inversely proportional to
x

s directly proportional to
x

xis directly proportional to

[1 mark]
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White paint costs £2.80 per litre.
Blue paint costs £3.50 per litre.
White paint and blue paint are mixed in the ratio 3 : 2

Work out the cost of 18 litres of the mixture.

[4 marks





image124.png
10 Ata school
number of boys : number of girls =9 : 7

There are 116 more boys than girls.

Work out the total number of students at the school.
13 marks]
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13 Two spheres have radii in the ratio 5: 3

Circle the ratio of their volumes.
[1 mark]

5:3 15:9 25:9 125:27
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20 CDEF is s quadiie.

/ 13

=0, DE b and FC =acb.

(@) Express 7 in terms of o andlor b
Give youe snewes n i s o,

s i o0
et on FM such tht -1
asigh e

) Wk ot he vl of .

o

ot for Question 20 6 marks)
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20 yis directly proportional to vx

Work out the value of a.
[4 marks]
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16

During a game, players can win and lose counters.

Atthe start of the game
Rob, Tim and Zak share the counters in the ratio 5: 6 : 7

Atthe end of the game
Rob, Tim and Zak share the same number of counters in the ratio 7:9: 8

‘Show that Rob ends the game with more counters than he started with.
13 marks]
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15 Three solid shapes A, B and C are similar.

The surface area of shape A is 4em’
The surface area of shape B is 25cn®

“The ratio of the volume of shape B o the volume of shape C is 27:64

‘Work out the ratio of the height of shape A to the height of shape C.
Give your answer in its simplest form.

(Total for Question 15 is 4 marks)
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17 pand g ave two umbers such that p > ¢

When you bt S o nd bt S fom g the aswes e i the st 1
When You add 207 4 od 200 the amwers e he o 512

Findthe o pig.
Give youranswer i sples fo.

(Total for Question 17 s § marks)
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2 Inavillage

the number of houses and the number of flats are in the ratio 7 : 4
the number of flats and the number of bungalows are in the ratio 8 : 5

‘There are 50 bungalows in the village.
‘How many houses are there in the village?

(Total for Question 2 is 3 marks)
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4 Raya buys a van for £5500 plus VAT at 20%

R pays a deposi for the van.
She the pays he st f e cost i 12 gl payments of £53125 esch month.

Find the o ofhe deposit Rays pays 1 the ol ofthe 12 el paymens.
Give you amower n i smplest .

(Totsfor Question 4 s § marks)
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Graph A
Graph B
o %
o 3
N
i
Graph ©
Graph D
o %
o %

‘The graphs of y against x represent four different types of proportionality.
Match each type of proportionality in the table to the correct graph.

(Total
(Total for Question 12 is 2 marks)
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2 Kiaria is 7 years older than Jay.
Martha is twice as old as Kiaria.
‘The sum of their three ages is 77

Find the ratio of Jay’s age to Kiaria’s age to Martha’s age.

(Total for Question 2 is 4 marks)
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14 The ratio (+.3):(y ) is equivalent to

pas)
=

(Total for Question 14 is 3 marks)
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4 There are only blue pens, green pens and red pens in a box.

‘The ratio of the number of blue pens to the number of green pens is 2
‘The ratio of the number of green pens to the number of red pens is 4

‘There are less than 100 pens in the box.

5

‘What i the greatest possible number of red pens in the box?

(Total for Question 4 is 3 marks)
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Show thatthe surfac aesof cons B i 132em
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“The o ofthe umber of whieshaps 0 the mberofback shapes s 3:7
“The o ofth b of whit sl o th nmberof whie squares i 4:5
“The o ofth b of lack s 10 th omberof bsck squaes i 2:5
Workout what fstion of altheshapes e cvcles.
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s the midoint o h i AC.
0CD s 4 sight e o tht OC: CD=: 1

FrT——

(Totalfor Questian 19 s 4 marks)
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12 The points 4, 3, C and D lc in order on a sraight linc.

Work out 45:5C:CD

(Total for Question 12 i 3 marks)
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6 Onafum

e e of corvs i the e of shasp axe s the ratio 6 -5
e e of dheep s the nzmbes of pigs re i fheraio 2 |

The total masber of cow, sheep and pigs on the farm s 189
Hor many sheep are thers on the frm”

(Total for Question 6 s 3 marks)





image24.png
2 Given tar
Bl ixom el el
e possble vas ofx.

(Total for Question 21 & 5 marks)
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1 The ratio of the number of boys to the number of girls in a school is 4:5
There are 95 girls in the school.

‘Work out the total number of students in the school.

(Total for Question 1 is 3 marks)
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10 The seface graviy of a planet can be worked ot sig e formula
6675 10
il ]

m ilograms i the mass of e lanet
¥ mees i th s of e planet

For he Earh and upier here are the alues of m ad .

B Topier

m=598 10 m=190x107
378 % 100 19 3107

ok out the i o the siface graviy of ar 0t sufce gavity of ipite:
Wit your smsver i the orm 1w

(Total for Question 10 is 3 marks)
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10 There are some red counters and some yellow counters in a bag.
“Thereare 30 yellow counters n the bag.
The rato of the numbe ofred counterstothe umber of yclow counters is 1:6

(4 Work outthe number of red countes in the i,

Riza puts some more rd counters into the g,
“The ratio of the number of red cauners t thenurmber of yelow counters isnaw 1:2

() How many red ounters dacs Riza put ntothe bag?

(Total for Question 10 is 4 marks)
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1 Frank Mary and Seth shared some sweets in the ratio 4:5: 7
Seth got 18 more sweets than Frank.

Work out the total number of sweets they shared.

(Total for Question 1 is 3 marks)
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8 Inabox of pens, thre are

e times 2 many rod ps 2 green pens.
and £ tnes s oy gren pes 5 bl pes.

o hepens i he b, v dovn
o i o e b ofred pas o the e of s e e b of bl pas.

(ot for Question 8 is 2 marks)
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5 Here are the ingredients needed to make 8 shortbread biscuits.

Shortbread biscuits
‘makes 8 biscuits

120g butter
60 caster sugar
180g flour

Tariqis going to make some shortbread biscuits.
He has the following ingredients

330g butter 200g caster sugar 450 flour
‘Work out the greatest mumber of shortbread biscuits that Tariq can make with
his

You must shor all your working.

e biscults
(Total for Question 5 is 3 marks)
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8 Sandra has 2 pisceof sring 153 cm long.
She cuts th srng o thoee Iength i e s 4:2:3

Wtk out the langth, in cetimeses, of exch pisce of sing.

(Total for Question 8 is 3 marks)
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2 Pavel and Katie share some sweets in the ratio 3 : §
Katie gets 32 sweets.

(a) How many sweets does Pavel get?

Katie also has a tin of chocolates.
There are 80 chocolates in the tin.
45% of the chocolates have toffee in the middle.

(b) Work out the number of chocolates that have toffee in the middle.

(Total for Question 2 is 4 marks)
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7 Coln Dave gnd Emma st some money.
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(Totl for Question 7 s 4 marks)
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19 Rob i euming about the plancts
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(Tota for Question 19 3 marks)
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(Total 2 marks)
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12. Sylvie shares £45 between A, Bob and Cath n the ratio 2:3:4

Wk out the amounteach prson gets
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1. A box contains milk chocolates and dark chocolates oaly.
‘The number of milk chocolates to the number of dark chocolates isin the ratio 2 1

There are 24 milk chocolates.

‘Work out the total mumber of chocolates.

(Total 2 marks)
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13. Apisceaf ood is 150 cmleng.
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Three people take 2 hours to deliver leaflets to 270 houses.

Assuming all people deliver leaflets at the same rate, how long will it take five people to deliver
leaflets to 405 houses?
Give your answer in hours and minutes.
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16 yis inversely proportional to the square of x.
y=2when x=5.

Find a formula linking x and .
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3 (a) The ratio 45 minutes to 3 hours 45 minutes can be written in the form 1 1.

Find the value of .

[O S —
() Reece and Sarah share some money in the raio 9 16
Reece says that Sarah gets more than 60% of this money.

‘Show that Resce is correct.
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(Total for Question 10 is 3 marks)
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xis directly proportonal to .
yis directly proportonal to z.

Weny=82=16.

Find a formula for 2in terms of x.

S
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Carol makes birthday cards.
Each card takes the same amount of time to make.

‘She makes 3 cards in 48 minutes.
She has an order for 80 cards.

Can she complete:

order in 3 days if she works 8 hours each day?

Show how you decide.
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4 Bob makes dry concrete by mixing cement, sand and stone in the ratio 1:2 : 3 by weight.

Ho buys the cement, sand and stone in bags as shown in this table

Weightof bag | Gost por bag
o) ®
Coment 2 550
Sand = 20
Stone s 390

Ha packs the cry concrete into 30kg bags.

B0b buys ust enough cement, sand and stone to make 50 bags of dry concrete.
(a) Show that Bob buys 500kg of sand

(b) Bob sels the 50 bags of cry concrete fo a otal of £396.

Calculate Bob's percentage proft.

®

%]
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6 Abag of sweets contains only mints, sherberts and toffees.

‘The ratio of the number of mints to sherberts is 2 : 3.
‘The ratio of the number of sherberts to toffees is 7 : 5.

What fraction of the sweets are sherberts?
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Sundip and Emma have some money.
The ratio of Sundip’s money to Emma's money is 3 5.
Emma spends £450 of her money.

The ratio of Sundip’s money to Emma's money is now 2 : 3.

Find how much money Sundip has.
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14 yisinversely proportional o the square root of x.
when x=25.

Find the value of y when
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2 The ratio 50 grams to 1 kilogram can be written in the form 1: n.

Find the value of n.
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3 (a) Anne, Barry and Colin share a prize in the ratio 3: 4 : 5.
Colin gives £ of his share to a charity.

What fraction of the whole prize does Colin give to the charity?

(@)
(b) Delia, Edwin and Freya share some money in the ratio 5: 7 : 8.
Freya's share is £1600.
How much money did they share?

(b)
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16 (a) The table shows values of xand y.

x

16

36

y

3

‘Show that these values fit the relationship that y is inversely proportional to vx.

(b) ais inversely proportional to b2 and a = 3.75 when b = 4.

Find a formula linking a and b.

2
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4 (a) Asunflower grows at arate of 4cm each day.

How many days does it take to grow from a height of 80cm to more than 1.06m?

(@

(b) Ifthe sunflower grows at a faster rate, how would this affect your answer to part (a)?

m





image57.png
2 Hector can run 400 metres in 66 seconds.

(a) Use this information to show that he could run 5 kilometres in less than 14 minutes. “

(b) Hector tries to run 5 kilometres in less than 14 minutes.

Give one reason why he might not achieve this.
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14 yisinversely proportional to the square root of x.
is 40 when xis 9.

Find a formula linking x and y.
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22 Inavillage the ratio of males to females is 2: 1

40% of the people in the village are right-handed males.
25% of the people in the village are right-handed females.

Show that the proportion of females who are right-handed is greater than the proportion of males
‘who are right-handed. [C]
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Sally has 30 feet of ribbon.
She cuts strips each of length 22 feet from the ribbon.
Sally says

T can cut 13 of these strips from this ribbon.

Is she correct?
Show how you decide.

[
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17 The diagram consists of three mathematically similar shapes.
‘The heighs of the shapes are i the ratio 1:4 5.

Find the ratio
total shaded area : total unshaded area.

Give your answer in s simplest form.

total shaded area : fotal UNSHaGEd 8188 ...crovcv * woveerere M]
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In a box of mixed nuts, the total number of almonds, cashews and peanuts is 1025.

‘The ratio of almonds to cashews s 1 3.
The ratio of cashews to peanuts is 5 7.

Calculate the number of cashews in the box.

“
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‘These graphs show different relaionships between the variables x and y.
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1 (a) Theratio 2 centimetres to 5 metres can be written in the form 1: n.

Find the value of n.

(b) Jay, Sheila and Harry share £7200 in the ratio 1:2: 5.

How much does Harry receive?

(b)
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11 yis directly proportional o the square of x.

i 'en xis increased by 15%.
Find the percentage increase in y wh by

% [4]
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10 lfsaw noticed this information on her car's dashboard at the end of her journey.
‘She started her journey with a full tank of fuel and her miles travelled set to zero.

MILES TRAVELLED 165

FUEL

() Work out how far lfsaw's car can travel on a full ank of fuel.

@ mies 3]

(b) What assumption have you made when answering part (a)?
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14 The diagram shows a cylinder and a cone.

2em

‘The cylinder has radius 2cm and height Scm.
‘The cone has radius rem and height h cm.

The ratio r: his 1:4.
‘The volume of the cone s equal to the volume of the cylinder.

Work out the value of .

Larthy

[The volume V of a cone with radius rand height s V=3,
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A box contains only red, blue and green pens.
The ratio of red pens to blue pens is 5 : 9.
The ratio of blue pens to green pens is 1 : 4.

Calculate the percentage of pens that are blue.

- % [4]
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6 s inversely proportional to x.
¥ =004 when x = 80.

Find the value of y when x = 32.
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14 (a) Standard bricks have dimensions 21.5cm by 10.3cm by 6.5cm, correct to 1 decimal place.
‘Ahouse is bt using 4863 standard bricks.
Joslin says
Placed end to end, the bricks from the house would definitely reach over 1km.
‘Show that Joslin's satement i correct, 2}

{b) Astandard brick should weigh 2.8kg, comect to 1 decimal place.
‘Atruck can carry a maximum load of 20 tonnes.

@ Calculate the maximum number of standard bricks that the ruck should be able fo cary.

(b)) ]
() Explain why your answer to (b)) may not be possible o achieve.

m
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1

Donald swims 3 lengths of a swimming pool in 93 seconds.

(a) Use this information to show that he could swim 100 lengths in under 55 minutes. “

(b) What assumption did you make in part (a)?

m

(¢) Donald tries to swim the 100 lengths in under 55 minutes.

‘Suggest one reason why he might not achieve this.

m
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6 Maria mixes white paint and red paint in the ratio 2 : 3.
She makes a total of 15 litres of paint.

How much more red paint does she need to add to the mixture so that the ratio of white paint to
red paint becomes 1: 57

litres [4]
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11 yis inversely proportional to x* and.

Find a formula linking x and y.
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8 The angles in a triangle are in the ratio 1:2: 3.

(a) Show that the triangle is a right-angled triangle. 2

(b) The hypotenuse of the triangle is 15¢m long.

Calculate the length of the shortest side i the triangle.

)
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7

There is a total of 250 men, women and children on a train.
The ratio of men to womenis 4 : 5.
“The ratio of women to children is 10 : 7.

How many men are on the train?
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6 Ashop sells packs of black pens, packs of red pens and packs of green pens.
Thereae
2 pens incach pack of bk pens
S s in cach pck of e pens
1 s incach pack of geenpens

On Mondsy,

umberofpacks  mumberofpcks , mumber of packs

“rau
of blck pens s © of ed pens sold o green pens sod-

Aol of 212 pens weresod.
Work utthe umber ofgrcn pers sold.

(Totsfor Question 6 s 4 marks)
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6

(a) Two bags each cor

only red counters and yellow counters.

InBag A, the ratio of red counters to yellow counters is 1 : 4.

InBagB, % of the counters are red.

(i) Sharon says.
‘The proportion of the counters that are red is the same in both bags.

Explain why Sharon is not correct.

(i) The number of counters in the two bags is the same.

‘Complete the table below to show how many counters of each colour could be:
in the bags.

Red counters

Yellow counters

BagA
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(b} In another bag, Bag C, the ratio of red counters to yellow counters is 3 : 4.
1f 3 of the red counters are removed from Bag C, the ratio of red counters to yellow counters.
is3:5.

How many yellow counters are in Bag C?
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13 Amodel raitway is built using the scale 1 87.

@

)

On the model raitway, the distance between the rals is 16.5mm.

distance between the rails

Calculate, in metres, the distance between the rails for a fllsize train.

@ metres [2]
The volume of a fullsize train carriage is 220",

Trevor calculates the volume of a model rain carriage to be 334cm® correct

to 3 significant figures.

Is Trevor's calculation correct?
‘Show how you decide.

&)
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Last year, Katie eamed £16200.
Her total loan repayments were £6400.

Katie estimates that the ratio of her loan repayments to her eanings is approximately 3 : 8.

Is she correct?
Show your reasoning.
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7 The population of a village

in the following ratios.

+ men: chidren=11:3
 women : children =5 :2

(a) Find the ratio men : women.
Give your answer inits simplest form.

(@

(b) There are 36 children in the village.

Find the total population of the village.

®)
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4 Inaschool, 2 of the students study a language.
Of those students who study a language, 2 study Spanish.

Find the ratio of students who study Spanish to students who do not study Spanish.
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12 yis inversely proportional o the square of x.

Complete the table.

10

“
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(a) () Sketcha graph on the axes below that shows that y is directly proportional to x.
v

(i) Sketch a graph on the axes below that shows y = x
y
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(&) tis possible to draw many rectangles that have area 24
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1 18rice cakes weigh a total of 130g.
There are 329 calories in 100g of rice cakes.

How many calories are there in one rice cake?

calories [3]
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17 Given that.
a9 =12
i the possble valuesof .

(Total for Question 17 is 4 marks)
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John i going to make chocolate squares to sell.

“There ae just thea ingrdients,chocclat, peanut butter and risped e, mxed i the ato
472 3 respectively.

(8) How much of each ingredient il b need o make 500g o mixture?

(@ chocolate g
cispedrice g
@

(B) Abr of chocolate weighs 200g and costs £2.50.
Ajarofpeanut butter contains 250g and costs £1.70.
‘Apacket of risped ice contains 300g and costs £200.

John makes 4 5k of mixture, rom which ho can cut 100 chocclats squares.
He charges 60p for sach square and sefs all 100 squares.

How much profit does he make?





image87.png
19 The prices of two phones are in the ratio x - y.

When the prices are both increased by £20, the ratio becomes 5 : 2.
When the prices are both reduced by £5, the ratio becomes 5 : 1.

Express the ratio x  y in its lowest terms.
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‘The cost of a holiday is £2400
Rana pays a deposit followed by monthly payments, in the ratio

deposit:total of the monthly payments =3 : 5

‘She makes 6 equal monthly payments.
Work out her monthly payment

[4 marks]

Answer £
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15

1

11 mark]
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22 (a)  yisdirectly proportional to x*
y=17 when x=4

Work out an equation connecting y and x.

[3 marks]
Answer
22 ()  misinversely proportional to 7
‘The value of r is multplied by 4
Circle what happens to the value of m.
[1 mark]

x2 x16

16
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Ata party there are 90 people.
48 are women and 42 are men.
Some women leave.

Some men arrive.

The ratio of women to men is now 10 : 11

Are there now more than 90 people at the party?

Tick one box.

Yes

No

‘Show working to support your answer.

Cannot tell

[2 marks]
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Here are two right-angled triangles.

Not drawn
accurately
yem
6cm
I [x
10cm 15 cm

Circle the value of y.

[1 mark]
1 75 9 4
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" Edand Fay shared £330 in the ratio  7:4.
Ed gives Fay some of his money.
Fay now has the same amount s Ed.

How much does Ed give Fay?

3 marks]
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2a'is five times bigger than b.

Circle the ratio  a:b
[1 mark]

10:1 1:10 5:2 2:5
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" Joe and Kyle share an amount of money in the ratio 7 :n
Joe gets 35% of the money.

Work out the value of n.
[2 marks]

Answer




